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wrfaw & fawm & sgow

2850. I o FTo ATGIH :
Wi ZAW AT FFAT
W twd
= To To fag :

Fa1 fad WY a8 T 1Y FFGT
fw:

(%) 71 mfas @ fawr &
I AGEART AT A, AT FAA HYAT AT
9 FOH ¥, AWA AW 9T HIT-
TF FAATTF ¥ ®T § FIH F77 FY FIT
Jrar & A

(&) #fger, Argavam oo g ?

faar war (=1 wavz i)
(%) o (@), #gms syt 71
Y Sera fRar war & ag AR § A
WTAT | a9z ¥ F19 F faAT F T qI09,
SY "AvATRRA: HAAY X X FA F, T
aat #7 fg =T FeF AT FIH F A2T-
gar 2N F Ao fawdt Agrasi ¥ ®7 F
fraga w7 for sy & 1 3as fRgisTar
fawriry we ¥ wa o7 1w F
oY fz=dT & ®r & fAc 334 Argar #
S FTE (A0 A wAT F )

s a9 fg:dy & ®mmoww
2851. ) Qo HATo ATEIA
Y gW wT wIAW
sy fwst .
i go 2o fag :
1 faet Hel1 qg FATA AT FIT HET
T
(%) 1961 & mrfas Frd fawmr
¥ far wAwe & fH 3% Frardi w1 w19
f&qr o1 @ oar
(&) feromawm 311 wa fraw
“Frwrit &1 17 fwar 9 @ & W A
ATTr TR foaar ag wor & ;W\

() #ar &30 gaAT FIH TT FIA
# fao fa=y sqaifeay v Aswr &
afgFrak g

faq @dt (- a AlEQ)
s faamr & faedt wwr & 1961
A faami wgla g fawer, aan
fawra YT Twrey fawm § qrasg s
foar srar 9r |

() = tawrer & fgedY mawmT
# gy 21 faarrt waty 9 fawer stz
yweag fawr & geag  #TR fwar Frar
21 w1 f5a3 i &1 Fra FFam A 72
& 3791 dear 7afy 1961 £ gEaAT §
FH 8, AT AT HOH KT AR T GTAT
BT E | TH FTHTIO qgA 82 T% HAL
qadY Jqr awz @ Fy geAr A
yfg & faaan fery & maarz w77 &
qEAFFIT AT §

(m) =af& w faww ¥ fe=dy
TAANT § WA AT RIR T AT
SWTE AZT 3T 2——Awe F faAl &
FTH FT qf7AT9 78 F AT T7 FY AT
¥ &gy sarar @g qAr 3—akfam
=¥ faqmy & fa wmg &) gfsar &
fadt # afafras seqrdy o<1 47 sqq=47
FAAE ) azgs FAAfIIIAE
AT T8 TFIT & wearl O&0 AT FeAT
a@ dr i & w30 A% fAafaa w9-
IIfeAt #1 A1 ¥ /34 ¥, 394 #F
qfeada @ gwr 3, e fadrerr
g9y ggFAl (gEEaTEEd 4g) w7
F® A\ 37 &7 frar mam &1 wA-
rfral weaed sravawara) & fratoor
THYIZN 1965 T FTAT fdreror ovw
g foa g A1 |YTATIT o, s rrEar
q¥A qT, FAT-RAT TC AT A AT
Ll





